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Teacher’s Introduction

First and foremost, this resource is intended to test students’ knowledge rather than to provide exact exam-style
guestions. Consequently, not all guestions will mirror the exact words and phrases used in actual guestion papers
for the OCR GCSE {9-1) Business (1204) specification.

This two-set resource of rultiple-choice test guestions with answers has been written specifically for the
CCR GCSE {9-1) Business specification; however, it can also be used as a companion to Foctsheets and Activities
for GUSE (9-1} OCR Business, which is also published by ZigZag Education.

Each set in this resource covers the seven functional areas of business in the QCR GCSE {9-1) Busingss
specification. Those areas are: Business activity, Marketing, People, Operations, Finance, and Infiuences on
Business and The interdependent nature of business.

The resource has two sets of muitiple-choice guestions with answers: Sat A and Set B, Each set contains 235
guestions testing topics covered in both the specification and the aforementioned ‘Facisheets and Activities”. The
resgurce is written in such a way as to take into account the fact that different students have different levels of ability.

Suggested use of Set A and Set B tests

Cuestions in Set A either correspond to or mirror those in Set B. The format for both sets is the same. The specific

topic tested in Set A is retested in Set B using different wording, different emphasis or a reverse scenario. This makes

the pack a very flexible resource capable of multiple uses in the teaching and learning environment, For example;

e After covering a topic in class, say in specification number 1.1, the teacher could first go through Set A 1.1
guestions and answers with the students in the classrocom environment using a question and answer session.
At a later time, Set B 1.1 questions could be used as a formal class test to check how much the students have
learned and to identify areas of concern and areas that were well understood. {Set B could be used first, then
Set A

& Alternatively, Set A 1.7 questions could first be given as a formal class test. Then, shortly afterwards, the
teacher could go through Set B 1.1 guestions and answers with the students in the classroom environment
using a question and answer session. This would highlight areas of concern and areas that were well
understood resulting from the test outcome. {Set B could be used first, then Set A}

e Students could be given Set A 1.1 questions for homewaork, then, shortly afterwards, be given SetBl.lasa
formal class test. The result could then be compared with the homework one, identifying areas of knowledge
strength and knowledge weakness. {Set B could be used first, then Set A}

¢  Set A 1.1 guestions and Set B 1.1 guestions could both be used as homework, for formal class tests and for
guestion and answer discussions at different times.

S Hastings, May 2022
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1.1 ~ The role of business enterprise and entrepreneurship

1.

How does business achivity satisfy the needs ond

wants of customers?

L} A By creating local employment

L3 B By being profitable

[ € By making a product or providing o service,
adding value to it and then selling it for
o profit

L D By creating o need or wont

What nome is given fo any
orgonisation :
i

: es for sale to
Gibusinesses?

L B Muliinational corporation

Which one of these is o characteristic of an
entrepreneur?

L3 A Risk-taker

LI B Risk-averse

L € Laziness

L2 D Self-doubt

Which ane of the following best describes o

keusiness risk®

L3 A Anunmeasuroble event

4 B A never-ending task

Ld € The unmeosurable likelthood of o business
having an operational profit

L3 B The measurable statistical probability of
business having on operational failure

Which one of the following involves business
‘unknowns’ with no gquantitative measurable
probkability of outcome?
L3 A Busingss risks

Ll B Business uncertainty
L} € Business compatitors
L3 D Business certainties

frue?
riainty are

wWhich one of the following st
LI A Business risk o

business uncertainty

ess risks cannot be at olf statistically
calculated

L} D Business uncertaintizs can be very easily
predicted and statistically calculated

7.

Which one of the
business uncertair
4 & Colcvighle
loss resulti
capital inv
The: known
The UK's &
Likelihood
invesiment

I
TOow

Which of these ¢
aspect of owning
L A Possibility
Ld B Sense of s
L3 € Achieving
L3 B Profit satis

Personal finuncio
regarded by bus
L A The negatiy
a business ¢
Positives s
Never achiy
Mot importy

Lo
jo e -]
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1.2 =~ Business planning

1.

Ideally, when should o business plan be drawn up
by o businass owner?

L3 & After it hos been astablished

L3 B Prior to starting the business

L4 € After the first year of trading

4 D Pricr to the end of the tax year

frt what way might o wall-constructed business plan
realistically help o business?

L3 A By eliminating all its unnecessary costs
LI B By making it a profitable enterprise
LI € By helping to reduce its risk of failure
L B By totally eliminating its risk of foiluse
Which one of these sta Ghusiness
plan is most true? g
A
Lig
e

rd copy’ document
be altered in any way
I never be made availuble
to employees
L D it must be made available to competitors

Which of the following areas must o business
plon addrass?

LI A Finonce

LI B Personnel

Ll € Maorketing

LI D All of the above

Which one of the following might o well-struciured
and positively written business plon do for

a business?

L3 A Discourage future investors

Encourage new potential investors

Cause on increase in staff turnover

Cause HMRC to show an unhaalithy interest in
its future development

Lo
SO w

Which of the following does a business plon
not containg

L3 A Profit forecast

3 B Project cash flow statement

4 € An assurance of business success
4 D Copital sourcing plan

Which of the foll
plan is the most

LA

0

L

3

Which one of the
for o business noy

Y

L

.

(d

Why should a bu

in stona’?

LA ltistooex

LB Itistoo tim

LI € Incoss the
unexpecte

LI D None of th
in stone’

Which one of the
to o business of

A

o od

B

C

D

B

c

D

W

2

itis ¢ help
loans from
fcanbe o
for the bus{
All of the o

It is alwayg
expensive
When a b
an unexpe
itis by for
business to
All of the
valid reas

it facilitate

it facilitate
institution
It con be ug
the busineg
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1.3 — Business ownership

1. Which of the foliowing basically determines the 8. Which of the fol
overall ownership and control of o business? pariner in o bus
LI A s employees L A Losses mu
LI B its stokeholders L B Profits mu
L3 € s legal structure L3 € Decision-r
L D s capital structure L D rone of ¢

2. What is the business model that shows that the Q.  Which of these
owner has sole control over and total responsibility nof that it canno
for oll operations of what is usually a small profit-
orientated business?

L3 A Public compony
LI B Privote company
L} € Partnership
L D Sole trader

3. stUcture exists when L3 A Superviso
ogether in business with o LI B Suppliers
BCTship 3 D Sharehold
LI B Charity
L € Social enterprise 11. At present, whic
L B Sole propristor about o UK priv
L A Itisthem
4. Which one of these business models can only sell its incorpora
shares privately and cannot offer them for sale 1o LB ltisthem
the general public? incorpora
L3 A Public limited company L3 € ls owners
i B Private limited compony i D s shares
L} € General partnership raise copi
(B Soletrader
12. What type of U
5. Which one of the following business structures con have the lefters
fegally have the letters ‘PLO after its nome to LI A Private &
denate its legal business status? L3 B Public limi
L3 A Partnership LI € Not-for-p
L3 B Private limited company L3 B Social ent
L3 € Public limited company
LI B Sole trader 13. Which one of th
‘continuity of exi
&, ‘What is the significance of the term ‘limited L A& Private i
fiability’ to business owners? L3 B Public Himi
L3 A It means that they are limited in the amount i € Generdl
of profit they can take from it LI D Limited p
[ B It means that they only have to work in it for
a limited period each year Ir which one of t
4 € it means that they are Hable for all public compaony QQPYR;@HT
of the business they own Ld A The abilit PROTECTED
LI D it means they are onl fé amount communic
of money th in their business d B The ability
of scale &
7. Whic fowing is net an advontage to (3 € The abilit

keing ¢ ¥ader enterprise? of scale
LI A Linited liobility 2 D The ability;
(d B Unlimited liobility temporar

Ld € Sharing responsibility for decision-making
LY D Sharing of profits 15. Which one of they

business stari-up
L A Sole trad

Multiple-Choice Question Bank for GCSE {3-1) OCR Business Page 4 of 59




1.4 —~ Business aims and objectives

1. Which of the foliowing ore set by o business’s
sanior management as the long-term sirategic
aspirational goals the business wishes 1o achieve?
Ld A Operational objectives
L B Toctical objectives
L € Swrategic aims
Ll B Very narrow specific targets

2. Which one of the following stakeholder groupings
usually sets o business’s tactical objectives?
L A Deportment managers
L B Shareholders
L} € Suppliers
LI D Senior executives

L3 A Tactical objective
LI B Strategic olim

L3 € Medium-to-short-term aim
L3 B None of the above

4.  Which of the following is o tactical objective
fechnique that a business could use 1o get a
competitive advantage over o business rival?
LI A Specicl offer
L B Special promotion
L} € Shori-term price cut
LI B All of the above

5. Which one of the following is the most likely
immediate objective of a small and newly
established sole owner busingss in o well-
established crowded market?

A Survival

L B Market domination
LI € Profit moximisation
L3 D Brond recognition

. Why might it n

a social enterp
LI A Tobrea

SMART. The ‘R
‘Realistic’, but

for o business
L A Arempt
conflict
They cost:
They migy
Attempt
conflict

Lo
(v )
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1.5 ~ $tabeholders in business

1. ‘Any person, group or organisation that hos
financiad, social or environmental interests in the
activities of o particular business organisation.” To
what is this quotation referring?

Ll A Supplemental
LI B Supplier

L € Shareholder
L B Stokeholder

2. Which one of these clearly identifies internal
stakeholder groupings of « business?
L3 A& Groupings that have no real or direct
interest in the business entity :
Ll B Groupings that have o reg
interest in the busi '
Ll c e part of the
o5 that have been associated with
osiness for five years or more

WD

3.  Which one of the following is net classed as an
internal stakeholder of o business?
L3 A Customer
LI B Employee
LI ¢ Owner
[ D Department manager

4. How are stakeholder groupings with only an
indirect interest in o business collectively
referred to?

L3 A Environmenialisis
L B Internal stakeholders
Ll € External stakeholders
LI B Locol communities

5. Which one of the following is classified as an
external stakeholder group in any business?
L & The board of directors
4 B The government
¥ € Department managers
[ D in-house first-aid personnel

&, Which one of the following statements is frue?
L3 & Al stakeholders have the some objectives
L3 B Conflict never arises between stal
[ € All stakeholders are sh :
Li B All sharehold

1¢C.

What might not
of the ‘owner’

4 A To work

W
S MW
-—{

)
=
&
<
&

it is o fact tha
have an effec
how an getivit
which one of the
4 A The bus

3B The bus
3 € The bus
2 D MNoneo

The activities
koth negative
activities. Prot
PrEssure grou
petroleum exp
4 A Friends
LI B Greenpe:
LI € Extinction
LI D Al of the

Multiple-Choice Question Bank for GCSE {3-1) OCR Business
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1.6 ~ Business growth

1. Which one of the following statements is true 7. What happen
cbout ¢ business that takes action to grow and interest in ano
expand itself by any means? voluntarily am
Ld A it is toking o risk L A A busin
LI B itis not toking o risk 3 B A busin
LI € 1t can only do so organically (3 € Business
LI B It can only achieve real growth by external 3D Anilleg

expansion happen

2. Which one of the following is growth resulting 8. When a non-v

from octivities generated from within the
business itseif?

LI A Unsustainable growth
Ll B Exceptioncl growth
Ll € Orgonic growth

9. Which one of
3. not arganic growth? process of hor
by Increasing market share A Wheni
LI B Growth by new product development level of #
L € Growth by merger with another business combin
L3 D Growth by output increase 4B Wheni
levels o
4. Which one of these is o method of external combin
business growth® € Whenb
L} A Merger some
LI B Incrensing customer numbers LD Whenh
L4 € Developing new products same st
[ D iIncreasing market share
10. What type of in
5. Which of the following is by far the fastest way business takes
fo grow o business? L A Circdlori
L3 A increasing market share LI B Diagonok
(3 B Gaining new customers L € Horizontg
L € Developing new products L B Verticol iy

Ll B Taking over another business

6. What process is said to happen when two
businesses voluntarily combine fo form one new,
farger business?

L3 & Business takeover

L3 B Business merger

L3 € Business acquisition

[d D None of the above

COPYRIGHT
PROTECTED
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2.1 ~ The role of marbeting and 2.2 ~ Marbet research

1. Why might o husiness undertoke marketing?
L3 A Toidentify customer needs and wanis
LI B Toinform and persvade customers
Ll € Toincrease its soles
LI B For ol of the abhove reasons

2. Why is an effective marketing campaign

important to o business?

LI A Inorderto posi?iveiy identify its customers
and promote its image and wares 1o GEE

LI B Only to impress competitors

L € To motivate ol its &mpioy@
productive

L3 D irisn’t import

3. What
A

sorpose of market ressarch?
and understand customer needs

Ll B To moke sure thot a business always
achieves moximum profits

L4 € Toensure that o business’s costs are minimised

L3 D To guarontee thot o business will achieve
market dominaiion

4.  Which one of these statements about primary
market rasearch is true?
L3 A its results cannot be compuierised
LY B It gothers only second-hand historical data
LI € 1t is origing! field research
L3 D itis also known as desk research

5. Which of the following is not a method of
primary researche
L3 A Using quastionnaires
L4 B Using newspapers and magoazines
L € Using focus groups
L B Using face-to-face interviews

4. How might secondary market research dota
be sourced?
Ll A From data and information thot already
exists within o business
LI B From websites
3 € From moguzines
L D From o government census

7. Which of these could be o source of secondary
research data?
Ld A Specialist trade mogazines
L3 B Filed, historical acco

LI € Referencing Internst

the' following Is on advantage to ¢

g o primary market research

method of data collection?

[d & There is no need to make sure that the
sample size is statfistically appropriate to
be relevont

L} B Primary research methods are very guick
and relighle ways of collecting data

L3 € The business gets new, updated and
relevant information about its target
market segment

LI B 1t is relatively Inexpensive

3.

1G.

11.

12.

13.

Which of the fol
seconcary reseg
3 A Itis usualy

access sui
Ld B iris hist

4 € The sec

4 B Noneofi

secondary ma
effects of a tr
which one of

efficient way §
market before
3 A Internst

Which of the f
systematic and
statisticol fach
3 A Cualiry
2B Qualita
4 € Quantit
LD Noneo

What tvpe of
s interviews, ot
aather expres

Microscft OFf
L4 & Qualita
B Guami

D Second

Multiple-Choice Question Bank for GCSE {3-1) OCR Business
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2.3 -~ Marbet segmentation and 2.4 ~ The marketing mix

1. When o business breaks down its total market
into specific component araas such os age,
gender, income, location and lifestyle, what action
is it undertaking?®
L3 A Maorket oversight
LI B Market orfentation
L € Market stagnation
L D Market segmentation

2. How might o business monufacturing and selling
sporting display parachutes be most likely o
segment and target its potential market?
LI A Lifestyle
I B Gender
L€ Age
4 B Location

3. Which ‘;hé ollowing is net one of the ‘four
Ps’ of t tketing mix?
Ld A Procurement
LI B Price
L3 € Promotion
L D Place

4.  When a business thoughtfully ‘tweaks’ elements of
its marketing mix, what is it hoping for?
[ & Competitor understanding

Marketing guidance

Cost reductions

Competitive selling advantage over

its rivals

W
SO W

5. What is the perceived difference hetween
‘product invention’ and ‘product innovation'?
L3 A Invention implies an existing product
whereas innovation implies changes to o
new product

L3 B Invention implies o new product whereas
innovation implies changes 1o an existing
product

LI € Product invention requires less thought than
product innovation

L3 D There is no difference

6. Which one of the following is the corr
development stages of the basi
product life cycle?
LI A Growth, i

ton, growth, maturity and decline
Guction, maturity, growth and decline

7. At which stage of its life cycle do a product’s
sales begin to flatten out and its market growth
rafe decline?

3 A Decline stage

3 B Growth stage

LI € Maturity stage

L D Introduction stage

16,

i1.

12.

13.

14.

How might a b

2 D Promoti

Which one of
usually applie
has a high pri
introductory st
L & Promoti

unit cost of prod
price would ong
O a£10
B £40
¢ £50
D £40

Which one of

L]

What form of

of ‘an influence
the forget oudic
X A Rodio

Which one of
suitable for di
L A Foodstu
38 Clothing @
2 € E-books
L B Footwear

Multiple-Choice Question Bank for GCSE {3-1) OCR Business
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15, All four Ps of the marketing mix should work
together 1o create the optimum marketing
strategy. This suggests that all elements of the mix
are closely whai?

L3 A lnnovative
[ B Inveniive
L € internal

L D integrated

16, What does the marketing mix help o
business develop?
Ll A Marketing strotegy
LI B Maonufocturing strategy
L € Maonagement strategy
LI D Motivation strategy

17.

in order to ac
which of the f
influential factog
3 A The possi}

level of
X B The wa
2 € The effec

software
(3 B The press

Multiple-Choice Question Bank for GCSE {3-1) OCR Business
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3.1 —~ The role of human resources and 3.2 Oroonisational

ways of working

1.

What is the prime role of the human resources
department in a business?

LI A Dealing with employse-related matters
LB Dealing with material-related matters
L3 € Dedling with money-reloted matters

L} D Dedling with machinery-related matters

Which of these orgonisational structures |
referred to as o ‘hierarchical struch
LI & Flat structure

What is the name given to the process of
transferring authority and power from o high
management layer 1o an employes in o lower
management fayer?

L A Chain of commond

¥ B Authorisation

[ € Delegation

4 D Subordination

Which one of the following bestows the right and
power to give orders and directives to
subordinates?

L A Authority

LI B Delegation

L} € Subservience

L3 D None of the ubove

Why is it that different businesses hove different

organisational struciures?

L4 & iris o legal requirement

4 B Becouse of competitor pressure

L3 € To ensure maximum profits are always
achieved

L D In order 1o attempt to fully achieve their

uniquely associated aims and objectives

6. “In order to achi
formal and info

LI B Effective cg
(3 € Positive cay
LI D Low staff 1y

RS

7. g mi!—sfructurec§
following layered
authority but also;
L3 A Operotioni
LI B Supervisory
(3 € Directors
L3 D Auxiliary

following types of
employees by for,
LI & Permanent:
3 B Temporary:
L € Freelance :
L3 D HMone of thy

9.  ‘Which one of thei
far the most ‘chall
of employees? |
L} A Flexible wa
L B Zero-hours,
L € Full-time
LD Part-time

R

10. During the COVIE

“furlough'’ leave.
B3 A Unemployid

L D Paid temps

Multiple-Choice Question Bank for GCSE {3-1) OCR Business
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3.3 = Communication in business

1. For which of these reasons is effective

communication importont in any business?

L4 & IFimproves employee motivation

LI B I has all employees working towards the
same known aims and objectives

Ll € 1t fosters on effective decision-making
process

L3 B For all of the above reasons

2. Which one of these is o negative consequence,
specifically for employees, for a business having
poor communication?

L A Increassd employes absentesism

LI B increasad rate of labour

L3 € Uncleor progressi :

W D Reduced

workforce

3. Which the following is net regarded as o
forma Fagement approved’ method of
communications within o business?

3 & Stoff noticeboard

L4 B Gropevine chit-chat
LI € Email notification
LD Written memorandum

Misinterpretatio
the consequence

a business’s dig
L3 A Reliobilit

4 D Atitude ag

Multiple-Choice Question Bank for GCSE {3-1) OCR Business
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3.4 - Recruitment and selection

1. Which one of the following should not be the prime | 7. There are many

racson for o business employing psople? selaction process
Ld & Toreploce employees who leave completion of a |
LI B Tocreate o favourable imoge with customers ke ullimately res

L3 € To bring ‘new blood into the business L A Job applic
(3 D To help grow the business I B Jobcentre
L € Referee
2. Whaoat do most ‘enfightened’ businesses consider LD Employer
their employees 1o be?

L3 A Human assets 8.  Why should o bu
LI B Humon liabilities outcome of o can
LI € Economic drain on resources on their sultabilit
L B Easily replacecble

3.  Recruitment by which o Hods is most

fikely to narrow ¥ rom which the demonstra
as from people not L € Itis o long
ted in its philosophy and culturs? exhaust an
interviewe
LI B Local private employment agencies L D MNone of thy
L € Internal means :
L3 D lobcentre search @.  Prior to a face-h
computer repair
4. Which of the following is an advantage to o should the emplo
business of using external recruitment methods 1o ondertake? |
rather than internal ones? L A Aholiday &
LI A I save the business money as it is a cheap (d B Residential
way of recruitment L€ Written kng
LI B It has access to o larger pool of poteniial job released ¢
applicants L D Writien kng
[ € I prevents ‘new blood’ and fresh ideas from systems arg
coming into the busingss
L D i focilitates o very quick selection process 10. Which one of they
directly apply to
5. Which one of the following documents used in the employment, rec
recruitment and selection process specificatly W A Employmer
highlights the attributas of the type of person the W B Heolth and
business wants to employ? L € Weights o
L3 A Job analysis 3 D Equolity A

LI B Job description
LI € Person dascription
LI B Person specification

6. ‘Which one of the following is net included in
joly description®
L3 A Proposed hours of work
LI B Proper job title
L3 € Personal

COPYRIGHT
PROTECTED

applicant needs

D

ploce of work
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3.5 - Motivation and retention

1. Which one of the following is net o financial
method of motivation?

L3 & Bonus
I8 Poy
[ € Praise
L D Profit sharing
2. ‘Which of thess is o financial method of motivation?
LA Poy
4 B Profit sharing
L € Fringe benefits
LI D They oll are

3. A business experisnces a profon
improved employae pr :

e ction of
| the following is the most
5 good fortune?
siness threatening the workers with

job losses

LI B The business putting an emphasis on the
importance of employee motivation

L3 € The business’s reduced level of competition

LI B The business leaving the EU with
unfavourable trade terms

ad levels of

In the business e
given to the host
deliberately on
suitable employ
work for it? :
L A Headhunt

L3 B Recruiting &
¢ Stealing
OB Gamesmar

Why is it import
axisting staff fo
L3 A They are

LI B Ifavoidst

LD Forall of

Multiple-Choice Question Bank for GCSE {3-1) OCR Business
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3.6 -~ Training and development

1. This is the process of increasing employees’ skills 6. Why do empioye:is:;
and level of knowledge by giving them the to employees?
theoretica! information and proctical experience LI A To develog

they need to perform o task or carry out an 3 B To motivate
operation. Which ong of the following processes 4 € To retain

is this? D For gl of
L A Training

LJ B Motivating What is meant

L € Employing

Ll B Encouraging

2. Why do businesses, especially large ones, cg
induction training for oll new employees?
L3 A Because it is o legul obli

3. What does the process of on-the-fob or in-house
froining primarily involve?

L3 A The employee training ot an instifution other ac

than their place of work 0B

Ll B The employee training ot their place of work :

L3 € The employee going to o place of further or 9.  Who benefits fro%

higher education :

By efferingé
In il of the.

programme?
3 D The employee avoiding o very *hands-on’ 3 A Only the
process LI B Only the

L3 € Both empld

. et e 2 - :
4.  What is off-the-job training also known as? 3D Business co

Ld A Unsupervised training
LI B Pre-induction training
Ll € Formal training
LI B Informal training

5. Which one of these could be regarded by
employees as o legitimate drawback to an
approved in-house work-time training programme
offered to them by their employer?

LI A Fear of indoctrination

LI B The intrusion into their free tims

Ll € The cost of travel to the outside institution

W D Employees might feel pressured i
undertaking the program "

COPYRIGHT
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3.7 —~ Employment low

What UK law reg%

1. Businesses employ people. Given this fact, what 3.
must be one of the biggest cbstacles they focs? weekly hours tho
L4 & Ensuring that they fully comply with current specific period of
UK legislation on recruitment and L4 A Europeon
employment Directive
LI B Setting up a recruitment and selection LB Working
process Ld € Equality A¢

[ € Gathering on interview panel L3 D Health oanc;
[ D Compiling interview questions :

2. Which one of the following UK Acts of Parliament i
intended to protect employeeas against all fo
discrimination in the workplace?
[ & Equality Act 2010
4 B Saleof Good Art
3 € Health wwvork Act 2015
Lo,
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4.1 ~ Production processes

1. Which of the foliowing shows the logical
sequencing for the physical production process?
Ld A Row maoterial input, fransformation processes,
quality checking, finished goods output
L B Row material input, quality checking,
tramsformation processes, finished
goods output
L € Quolity checking, raw material input,
transformation processes, finished
goods output
L B Quality checking, finisher!
material input, 1

one-off ucts fo the exact requirements of
the customer?

LI A Job production

L B Botch production

L3 € Flow production

L3 D Mone of the above

3. Which one of these is the best daseription of

"batch production’?

L A Partly automated production

L} B The making of o unigue product to o
specitic spacification

LI € When relatively small unit groups of similar
items are produced ot the same fime

L D Design-driven production of o few items

4. What are the key features of ‘flow production'?
Ll A Single-item automated production
L B Unitary production of hand-made tems
L3 € Mass, or assembly line, production of
individualised non-standardised ifems
4 D Mass, or assembly line, production of
identical standordised items

5. Inorder to increase s productive capacity to the
maximum, which one of the following paths mi
a business take?

specialise in it

. How mighta b

how might o bu
its productiviiy?
LI A By offeri
d B Byprovi
W€ By empl

3D Byonyo

Which one of t
totaliy and full
mess productio
ld A& Alpine F
3 B Rencuk N
EC luxurya

LD Speciol
spacific r

Which of the fo
mamufocturing
production syst
L A& itis bimit

standard
Lt B The high

make in
2 C itcononl

3 B All of the

4 € Flow pro
LD Allthen

impacts of imp
roboticsona w
A lgnorea
LI B Remove
€ Consult v

3B Sirike o
labour-in
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4.2 -~ Qudlity of goods and services

1.

How is the quality of o product or service defined?

Ll A By its longevity

LB By its price

Ld € By the extent to which it meets customer
expectations

4 D By how it is made

Gluality control is o method of ensuring the high-
guality standard of a product or service, How
might this be applied to o final consumer produci?
L A By carrying out continuous quality checks at
predetermined stages of its production
process :
LI B An end-of-production-run
ensurs o high stan -
been achi

L C investment in robotic
and advanced computer systems
GDH ot be

What is maant by the ‘quality assurance’ process in

refation to the production of o final consumer’s end

product?

L3 A The carrying out of continuous quality checks
at predetermined stages of its production
process

L4 B End-of-production-run baich inspections to
ensure ¢ high standard of quality has been
achieved

L} € Moking sure that defective products ore
coverad by insurance

4 D None of the above defines quality assurance

Which one of ?heé

LA
LB

(4 C

To o business th
extremely impo
goods and the

L A
(1B

c

LB

Guality o
individua

fault-find
GQuality ¢
fault-find

To reduc
and disill
For all of
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4.3 ~ The sales process and customer service and 4.4 — Co

1. E-commerce, face-to-face retailing and telesales
are but three different methods of selling. What
does telesales involve?

Ld A Selling goods or services through television

LI B Saliing goods or services over the
telephone

L3 € Selling goods or services over the Infernet

L} D Selling goods or services digitally

2.  E-commerce facilitates the buying and selling of
goods and servicas over the Internet, What
influence has this had on business activity?
LI A Massive growth in the number of

town e-tailing establishme:
LI B Massive growth in :

te reduction in the ‘pollution footprint’
of seliers

3. Why is it 5o important for o business to provide
excellent customer services including customer
care aftersales?

LI A To retain existing customers

L3 B To aftract new customers

L € To gain a competitive edge over rivals
L3 D For all of the above reasons

4. Which of the following stages in the sales process
are esseniial contributions o the provision of
good customer servicas?

L3 A Product knowledge
LI B Customer engagement
Ll € Aftersoles service

LI B Al of the above

How might o
engoged with
LI A By payi

How might UK
A& Onitsi
B Cnthe

€ Onthesé
services i
LI D Onallof

R
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4.5 — Business location and 4.6 Weorking with suppliers

1. Which one of these is by far the biggest factor for

a busingss to consider when choosing ifs
geographical location?

Ld A s type of operation

LI B s physical size

Ll € s orgonisational struciure

L B s copital structure

2. Which one of the following factors would be
foremost in deciding the location of an organic
farm specialising in ‘farm fresh’ praduce?
L3 A Proximity to cuxiliory businesses
4 B Proximity 1o o ‘graduate level’ worls
L& € Proximity 1o its market
L3 D Proximity to its raw

location of a computer repair

L3 A Whether the location has a high level of
university groduate level education

4 B Whether the location has o high level of
general education

L3 € Whether their target market is near to the
location

4 D Whether there ore good transport links in
the area

4.  Which of the following locations would most favour

a travel agent business?

L3 A At the end of o housing terrace
LB Inan out-of-town site

L3 € In o housing estate

L D In o city centre high street

5. Where would an international financial coll cenire
ke maost likely to locate?
LI A Inan area of financial and linguistics
graduates
In an area of longuoges-only graduates
In an orea of mathematics groduates
In an area of cheap labour

Lo
T MW

ing factors is most likely to

What nome is gi
identifying and s
and services, ord
receiving their d
L3 A Pronounce
I B Procuremey
L € Procedure
L D Purchasing:

What does ‘logis
L A Transporioy
finally dist
L B Storuge of
L € Only distri

it for a manufoct
supply chain for
providing the fin
product? Select
L A

L
T w
N oWk

How might o pro
procurement syst
L A Megative i
likely caus

(d B Couse very
reliability &

€ Damaget
B Inall the af
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5.1 — The role of the finance function and 5.2 Sources of %m\
6.

1.

What is the main purpose of the finance function?

L3 A To provide financial information to ail other
functionai areas of the business

LI B To support tactical ond strotegic
business planning

L € Tosupport the business's management
decision-making process

LI D To serve the business in ol of the
above ways

It what way can the finance f
influence o manage
business activit '
.. Sirwith advice on o specific

S310N ON O

LI B By providing it with only unproven numericol
statistical dota

LY € By providing it with information collectad on
the gropevine

L B By providing it with qualitative doto
collected from o sample set

Why do businesses need finance?

L A To start up or expand

LI B To cover day-to-day running costs and
subsstantiol copital expenditure

LI € To recruit personnel and market their product
or service

LI D For all of the above reasons

Which one of the following involves a large number
of people contributing 1o the raising of finance for
o specific business or business project?

LY A Overdraft

LI B Trode credit

Ll € Crowdfunding

Ll B One-yeor bank loon

Which of the following are long-term business
loans?

L A Ten-yeor bonk loan
L B Mortgogs loon
L3 € Five-year ba

Which one of ?he§
finance the expas
LA Owner's
LI B Short-ter
L3 € Mortgag
3 D Shore iss

Which one of th
ikely 1o be the
unestablished o
L A Shori-ter
L B Long-term
I € Personal

Which of these
a long-establish

Crowdfunding i
finance, but whi
not responsible

L A

payment
The grow
social me

0 oo
£ B

o

Bringing o new
way of getting
partnership. Wi
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5.3 -~ Revenue, costs, profit and loss

1. Which one of the following is o source of business
ravenuea?
L3 & Profit from trading
LI B income from trading scoles and investments
L3 € Expenses for day-io-day operations
[d D None of the above

2. ‘Which one of the following is o cause of business
outflow?
L3 A A debtor
LI B Ascle
LI € Acost
L B All of the above

3. Which one of the follow

of production

A Costs
LI B Unit variable cosis
W€ Total varickle costs
L B Total costs

4. Which one of these is the normally constant cost
directly attributable to the production process?
L3 A Period cost
L3I B Fixed cost
L3 € Margina cost
L4 D Unit variable cost

Consider Table 1, overleaf, and then answer guestions
540 8.

5. What is the business’s unit variable cost?
LI A £10

- £5

£3

£2

£
SO w

' is the business’s total variable cost®
£250,000
£150,000
£500,000
£600,000

TN®B 3

=

- is the business's total 'f
£10,010
£100. 000

TO® s

hot is the business’s total cosi?
A £300,000
B £400,000
€ £500,000
L £600,000

Joods JOoods doods Jdo

or indirect,

Consider Table 2, oveé
@ and 10, f

9. What is the net pi
O A £100,000
OB £150,000
€ £250,000;
LD £400,000:

7

10. What is the gross:
s year 18 5

O A 3333%
LB £33.00
L € £20.00
LD 20%

11. If o business modh
aver o yeor's tra
con be said, with
L4 A The busine
L3 B The busine
LI € Forevery

gross prof
LI D For every
gross prof

12. The gross profit
both profit ratios
return classified?
L A Labour tur
LB Liquidity r
L € investment
3 B None of th

Consider Table 3, oveé
13 and 14. :

13. Whaot is the aver
investment choice

A 15%

LB 20%

LI C 34%

WD 37.5%

4. What is the least
the ARR apprais
LI A Choice A
3 B Choice B
L € Choice C
L D Choice D

15. Aport from monel:
should bre conside
investment?
L3 A The speedi

AR R
[v e W <
_--q
=
@

@
<
L
o

Ary or ail
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Table 1

Business rent £10,000
Business rales £30,000
Business insurance £60,000
Direct woages per unif £5
Direct moterials per unit £3
Direct expenses per unit £2

Units produced und sold 50,000

Table 2
End of year 1
Sales
Cost of sale.
Expe

Table 3
Possible investimey

. Choice A | Choice 8 | Ch
initial cost outiay £200,000
s 0 o 4 (5 years) tolul profils £150,000
Averoge rate of return . f e 12%
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5.4 -~ Breabk-even

1. Ar what point does total costs equate tofal 4. In breagk-even
ravenuea? business con ¢
L3 & Moximum loss before going
i B Profit moximisation referred 1o os

[ € Breok-even LI A Margin
1 D None of the above L4 B Margin
L € Profitp
2. ‘Which one of these is o benefit to o business of LD Areaof
carrying out break-even calculation and analysis :

to assist its decision-making process? Study Figure 1, beiq@s

L3 A The business can clearly see how many units 10. :
need to be produced to break even

(4 B Because it assumes o linear relat

between costs and revenusa 4 A Vaoriable
LI € it can be used to pragdls LI B Total cost
flow probles hess products L € Revenve
Lip - 588 on the assumption thot U D Margine
produced are in fad sold
: 8.  Which of these §
3. Which one of these is o real drawback 1o break- 3 A Fixed cog
even analysis? 8 Totalre
LI A it does not take costs into considerafion L € Total va
L3 B it does not take revenues into considerstion 4D Total cost
L € It reflects the short-time life of only one
spacific product @.  Which of thes
L4 D i does not take the number of units L A Margin
producad info acoount Ld B Fixedc
€ Total co
4,  In breok-even analysis, ‘unit contribution’ is O D Revenu
calculated by the formula (selling price per unit
minys variable cost per unit), but whai does ‘total 10. Which of thes
contribution’ directly contribute towards? L A Margin
L3 A The number of units produced 3B Fixedc
LI B Fixed cost of production 3 ¢ Total va
Ll € Toial revenue incomes 0D Revenue i

LI D None of the above

5. A business has fixed costs of £10,000 and o
contribution per unit of production of £5. If it sells
aach unit for £20, how many units must it make in
order 1o break even?

LI A 400

LB 500
L < 1,000
LD 2,000
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_ Line A

Cost and revenue (£}

A
y
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5.5 - Cesh and cash flow

1. Caosh refers to cash on hand in the form of coins 6. i business cash is
and notes us well as positive cash bolances money that flows
available in the bank cccounts of businesses. Why specific period o
is this current asset so important to o business? following statem
Ll A Becouse it is used 1o pay the business’s L3 A Excess inco

creditors expenditur
3 B Becuuse it is used to pay staff woges L3 B Excess exp
and salaries specific po
Ll € Becouse it is used to pay duy-to-day L3 € Excess ass
running expenses (3 D Excess lioh
L3 D Because of oll the above reasons ond more

2. What is meont by business cash flow?
L A Transactions with debtors o
a busingss ;
L3 B The actugl

fixed assets
LA It does not

B lthelpsa
shortages
3 € Asabudg

3. A business should always aim to have a positive
cash flow over its trading period. What does
this mean?
L A 1t mokes profit over its trading period
Ll B 1t has more outgoings than it has incomings
L3 € it has more cash coming in than i has
gaing out
L4 D I gets money in from the sale of some assets

D fthelpsak
problems c

B

Consider Table 1, beie};'

aver the trading pericd 7 and 10. 5
9.  What is the net ¢
4. Which one of the following would not necessarily A £3,000
cause o business to have o period of negative cash B {£3,000)
flow and consequently become insclvent? 3 ¢ £8,000
L & Generol ond prolonged collopse in the UK OB (£13,000)
aconomy :
LI B Short-term delay in one debtor's repayment 10. What is the closing
plan L4 A& £17,000
L3 € Prolonged period of non-payment by 4 B £4,000
debtors L C £8,000
LI B The unplanned replacement of an cutdated LI D {8,000

fixed asset by a newer one

Toble T
3. Far which of the following purposes might cash b b How forecast for
Used by a bUSinGSS? I oo
L A To pay trade creditors '
LI B To buy stock for ressy
L€ Tomoke ok
I
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Cush inflows
Sales revenues
Rental incomes
Total inflows

Ve purposes

ash ouiflows
Purchases
Overheads
Total outflows

Opening balance
Net cash flow
Closing baolance
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6.1 ~ Ethical and envirenmental considerations

1.

What does business ethics imply?

L} A That o business is image conscious

3 B That o business trades in o right and proper
way and not in the wrong way

i € That a business sources its supplias from
third-worid countries only

L} D That o business does not concern itself with
profit

4,

How might the f

‘disinterested’ b
climate?

LA

2. How might o business be seen as be
ethically? LB
L A By how, and f
supclies ' 5. Which one of the!
B U tiow, It markets and promotes certification lobet
et producers in deves
3 € BMplementing o foir trade policy (3 A Kitemark
3 D By any or all of the above actions LI B Fairtrade r
3. Warld, notional and local issues such as
sustainability of notural resources, disposal of ol
sorts of waste materials, potential dangers of
environmental pollution and the catastrophic
implications of global dimate change all feed
directly and specifically into which of the foliowing?
L3 A Motivation of business employees
L} B The system of stock control employed by the
business
LI € Environmental considaration for the modern
business environment
LI D Recruitment technigues of modern businesses
6.2 — The economic climate
1. The business environment coniributes greatly to the 3. Apaort from the

UK economy. In which of the following divisions is
the UK economy usually placed in world rankings
by way of gross domestic product (GDP)2

Ll A 1o 3

LI B 4htp 6%

Ll € 7hip o

LI D 10%or lower

The COVID-19

neral level of the UK

S5 this impact filtered down by

Saeuals’ income to UK businesses?

L3 A Reduced disposuble income of consumers

L3 B Caused an increase in the general level of
demand for luxury goods

L € increased the general level of UK
employment

L B The impact did not percolate down to the
general UK business environment

monumental UK
unforeseen imp

services produc
of time?

(d € The trade
(3 D The nationg
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6.3 ~ Globalisation

1. What word is used 1o communicate the fact that
our world is becoming more and more
interconnected and integrated both commercially
and culturally?

L3 A Globalisation
LI B international
L € Interconnacted
L} D integrated

2. Which one of the following has been most
responsible for the focilitation of the accelerated
trend in globaolisation?

LI A improvements in international tran

LI B international finance

Einsible for, the growth in
globalisation?

3 A The decline in sole ownership of businesses
[d B The growth in multinational companies

L3 € Unlimited liability of company shareholders
LI B The growth in private limited companies

How best might:
internationally?;
LA
Lisg

L

Lo

hat |
A
B

o odsg

o0

COPYRIGHT
PROTECTED

Multiple-Choice Question Bank for GCSE {3-1) OCR Business

Page 27 of 59




In business, the functional areas of operations,

finance, marketing and human resources are

interdapendent. What does this actuaily mean?

3 A There is no reliunce between the functional
areas of o business

LI B Functional arsos are indepandent profit-
raking entities

L} € They oll rely on thelr own, as well as each
other’s, successful working to achieve total
business success

L3 B Function area success or failure, taken
iiself, is reclly unimportant and

How might the indivi
humaon resgar

A
]

iTea be measured?

Bffectiveness of the selection and

reténtion of staff process

L € By the perceived reputation of how the
business treats its employees

4 D By all the above methods

The collective success of the functional areas of o
business is of paramount importance to it. In what
way might the degree of this overall success be
quantificbly measured?

L} A By measuring the success of one area and
comparing it with the others

By analysis of its profit and loss account only
By the interpretation and statistical analysis
of financial data and information

By its current state of liguidity

£ oo
©y W

&

There are risks ag
requires the succ
of all functional
frading reword
these risks?

L A Turmover
LI B Profit

LI C Loss
LD Sales

If senior decision-
alf the interdepe
business, what ¢

order 1o effectiv
and enhance ifs
LA Accurote,
L B Prepared
L € Presented
LI D Nonewoft
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1. When any business activity makes o product or
provides o service, adds value to it and then sells
or provides it for a profit, which ong of the
following con be said about what the business is
really fully doing?

L3 A Satisfying the needs and wants of customers

and itself
LI B Sotisfying only the basic needs of custome
L3 € Providing o not-for-profit service f
consumers
3 D Providing employ:
doing so

oilowing best describes o

3 Karise?

Any small business that sells goocds

L3I B Any size of business that only employs
people

L3 € Any type or size of orgonisation that sells
goods or provides sarvices

LI B Any type of large business organisation that

sells goods or provides services

3. i a person is risk-averse then it is highly unlikely
that they will be which one of the following?
L3 A A business manager
3 B A successful entreprenaur
[ € A dynomic leader
Ld B None of the above

4.  Which of these is the measurable statistical
probability of o business having an operational
failure?

L3 A Business acumen

L1 B Business reward

L} € Business risk

L3 D Business uncertainty

5. Which one of the following best describes o
business uncertainty?
3 & A business ‘known’ with ¢ guantitaiive
measuralile probability o
L3 B A business ‘unknown’,;
measurable
A e

L C

no quantitative
probability of cutcome

#ess ‘unknown’ with no quantitative
measurable probability of cutcome

Lo

6.

L € Business ris
LI D Business risg

Which one of the
[d & Business un
catculated
LI B Business un
catculated
L3 € Business un
the same
L3 D Business un
cause a by

Which one of the
European Union |
businesses?

entreprens
Totally av

Neguative ¢
Positive asy

I
TOow

Ry

Which of the folie.
positive aspects ¢
Fear of buy
The ability
The ability:
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1.2 =~ Business planning

1. Prior to starting o business, which one of the 6. Sustained busi
following overall plans should be drawn up by be guaraniee
the owner as a consultative guide to running it? LI A Well-co
L3 A Business plan 4 B Sustoinec
LI B Financial plon W€ Continu
Ll € Humaon rescurces plan W D Providin
L B Maorketing plan thet cus

2. How might even an exiremely well-constructed 7. Which of the f
business plan not realistically help o business? business plan i
L A By assisting it with borrowing finance L3 A it should §
LI B By acting as its budget guide starts to
L} € By totally eliminating iis risk o B it should
LI D By giving it o positive, for business

image : B¢ heonb
LD Heconb
3. the deg
% not make referance o compatitors 8. ‘A business mu
LI B It must not show predicted future cash flows unexpected eve
L € 1t must not be chunged during the lifetime staternent justi
of the business L3 A Retrosp
LI D I must not be o printed document LI B A busin
L C A busin

4.  Which of the following should o business plan not reactio
containg WD Proaciiv
L A Predicted financial dota
[ B Unredlistic and badly researched future 9. Incase o busin

projections unexpected eve
L € Human resources requirements not be?
L} B rlome of the business owner L A Change
[ B Unchon

5. Which one of the following is most likely 1o cause [ C Basedo
new potential investors not to invest in o newly D Realisti
established, fledgling business?

L3 A Enthusiastic business owners 10, Which one of

LI B Statistically calculated future predictions filkely hindrane

L € A badly structured business plon response 1o o sy

Ll B A business plun opportunity? ¢
LI A Good ang
LI B it ability.
¢ A writterd
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1.3 — Business ownership

1.

What does the legal structure of o business
determine?

L3 A its overall ownership and control

LI B s profitability

L € s level of employee absenteeism

L3 D s philosophical management style

Which one of the following is true about o sole

trader organisation?

L3 A I has more thon one owner

LI B lts owner hos sole control over and fotal
responsibility for all operations

LI € it can have more than one employee

L3 D The owner is not the sole proprietor

How is a ‘partnership’ tradiy

usualily defined?

3 A Whena shares publicly on

two people join together in

s to make profit

LI € When ot least one person starts 1o trade

L B When two or more people join together in
business with ¢ view to moking profit

Which one of the following is net frue about o

private limited company?

L4 A it can offer its shares for sale to the general
public

L3 B it connot offer its shares for sale to the
general public

LI € Its owners are protected by limited liability

LI D i must offer a new share issue first fo

existing shareholders

Which one of the following can be legally used
after the name of o public imited company?
LA Org

LB pl

e LD

LD

Which one of the following terms means thot the
owners of the business are only liable for the
amount of money they have invested in it, and not
their own personal goods and chaitels?

L A Liquidotion

L B Uniimited liability
L3 € limited lability
L D Llimited debt

A is not profected

r organisation is protected by

giability

L3 € Ascle trader’s customers are not protecied
by limited liability

L} D A sole trader orgonisation connat have more
than one owner

B

. At present, whic

. A public limited

Which of the fo
partner in an or
L3 A Responsibii

nof frue about

LA Itisby fa
company
LB Kisthem
incorpora
LRC hisaley
througho

2 D lis owner

LB PLC or p
L ¢ PCorpc
D iCork

L2 A B has aut
LB Itdoesno
existence
LI € i can hav
LD I connot
portnersh

The ability to o
communications
one of these?

L3 A Small pri
LB Small pa
L3 € lLarge pub
LD Sole pro

structure for whick
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1.4 —~ Business aims and objectives

1. Ina hierarchically siructured organisation, which
management grouping sets the strategic overall
aims for the business?

L3 A The senior management team

LI B Junior assistant depariment managers
L € Deportment managers

L D Team supervisors

2. Inan organisation with o tall structure,
department managers usually take responsibility
for setting which of the following?

L3 A Strotegic long-term objectives
L3 B individucls objectives
4 € Toctical obijectives
LI B None of the ahov

A g would you consider to

it for ¢ business?

trol ab least B0% of its total market
share within 10 years

L B Toincrease iis sales by 1% monthly

L € Toincrecse its footfall by 1% weekly

LI D Tobe in business by the end of the duy

4.  Which one of the following actions by a business
might a short-term price cut in some of its products
be clussed os?

LI A A long-term strategic objective

LI B An excessively aggressive pricing policy

L3 € Anillegal and deliberate destroyer pricing
policy

3 D A ractical objecive used to get o
compedtifive advanioge over ¢
business rival

5. Immediate survival is the most likely objective of
which of the following?
L} A The moarket leader business in o nearly
monopolistic market
LI B A large, well-established successful
dynamic business in a small market
L € A smoll, well-established successful sole
supplier in o very specialised market
L3 D A small, newly established sole owner
business in o well-established cron
market

10.

The provision of:
normaily unde
following?

are three combi
businesses usua

Which statem
enterprise os

compaonies?

4 A Itis mos
legal se

3B Itismos
legal se

3 € I does

LD Honlyt
more o

'SMART is an
association wi

2 D Productic

What con result
groupings of o §
attempting to
objectives? ,
O A Comprom
(38 Conflict &
(3 € Cohesion:
[ B Al of the
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1.5 ~ $tabeholders in business

1. What is « business stakeholder?
Ll A Any person who only has o finoncial
interest in g business
LI B Any person, group or organisation with any
interests in the activities of ¢ business
Ll € A part-owner of a business
L3 D A senior manager of o busingss

2. What is the specific name given to the grouping
that has o real and direct interest in their
particular business entity?
L3 A Stokeholders
4 B BExterncl stakeholders
[ € Internal stakeholders
LI B None of the aboy

s customer, with no

LI B Anexternal stakeholder of the business
L3 € Aninternal stokeholder of the business
L D A generally satisfied customer

4.  Which one of the following best describes o

specific business’s external stakeholders?

4 A Groupings with only an indirect intergst in
that business

L B Groupings with only o direct interest in
that business

L4 € Shareholders of that business

3 D Full-time employees of thot business

5. Which one of the following is not classified as an
infernal stakeholder of o business?
L3 A The government
i B Full-time employess
LI € Parttime employess
Ll B The business’s support staff

6. Which one of the following statements is not true?
LI A A business’s shareholder is not one of its
external stakeholders
LI B A business’s shareholder is also an interr
stakeholder in it
L3 € A business’s shareholde
regarded as a sty
Not all of o 5

o

eholders are its

16.

Providing full-
to be the prim
stakeholder g
supermarket ¢
3 A locolsu

I D The ow

To work and |
manufaciurer
environment is rg
overriding obj
groupings ss
mamufacturing
L A Supplie
LB Local co

Under what ci
duty of respo
L A Oniyif
B Onlyw
4 € Undera

2 D Under né;

In order to gat &
in respect of oni
does an environ
have on its forg:
LI A Create o
business i
LB Create a
business i
LI € Create o
activity in
U D Create a
activity i
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1.6 ~ Business growth

1.

Which one of the following is likely 10 be the

biggest risk for « business?

L4 & Planning for growth and expansion

LI B Growing ond expunding iis footprint by
any medans

Ll € Budgeting for future income

Ll B Employing sultable staff

How might o business grow organically?

LI A Merger or acquisition

Ll B Decrease iis ouiput and sules

L € Undertoke activities thot are external 1
the business

L D Undertoke activities gen
business itself -

Ernal business growih?
ome market expansion

L3 € Growth by changing elements of its
marketing mix
L3 D Growth by research and development

Which one of these is o method of inorganic
business growth?

L3 A Update technology used by the business
LI B Incrense sales

L € Merger

L3 D None of the above

Taking over, or aequiring, another business is by far
the quickest way for a business fo experience which
of these?

Ll A A certain decrease in sales

LI B Growth

L € Unrivalled business success

L D Inevitable business failure

What does a business merger result from@

Ll A The voluntary combination of two or more
businesses to form one large business

[3 B The hostile tukeover of one business by
another

Ll € The fragmeniation of ane single busine
many businesses

Mone of the above

D

agreement
LI B One busing
another bug
agreement.
(3 € One busing

a market ©
One busing
onty by ho

Which one of the
business fokeover:
L A An agreed

of a small &

B Anagreed

L2 € Anon-volu

LD A voluntor

When individual
production/supp!
integration is this
4 & Forward in
3 B Cross integ
LI € Vertical in
LD Horizontal

When does verti
LI A When one
B Whenab
L€ Whenala

W B When asm
larger one;
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2.1 ~ The role of marbeting and 2.2 ~ Marbet research

1.

To identify customer needs and wants, to persuade
and inform customers and ultimately to increase its
sales are all real ond valid reasons why o business
might want to undertake which one of these?

L4 & Image improvement compaign

3 B Costcutting campgign

[ € Marketing campaign

Ld D Recruitment and retention of staff compaign

I what way might o business effectively
its image, s mission and its pr

To identify and understand customer needs and
wards is the primary purpose of which one of the
following activities?

L A Market research

Ll B Finoncial budgeting

Lt € Recruitment and selection

W B Quality monagement

What is origingl field research olso known 032
LI A Agricultural research

L B Desk research

L3 € Secondary research

L} B Primary market research

i a business only uses newspapers, magazines and
internal resources to carry out research, which one
of the following statements is true?

L3 A This is not desk research

Ld B This is field research

LI € This is not primory research

Ll B This is primary research

Undertaking market research using data and
information that already exists within a busin
known as which one of these?
L4 & Secondary market ress

A business's financial accounts, human resource
records, trade mogazines and newspapers are all
sources of which of the following?

L A External research dota

LI B Primary reseorch data

L} € Desk research dota

3 D Field research dota

8.

Which of the folig
business 1o get ng:
information about
(3 A By using
4 B By using
L € By using
method o
By using
of data ¢

What data rese
be irrelevant fo

Which one of th

way to test the
prociucis?

Which one of th
cquantifative ma

Gualitative mar
using which of the
3 A Interview @
(3B Observaric
(3 € Discussion ¢
(3 D Allof the g

Which of the foli¢
quantitative mao
4 A If cannot
i B I cannot

applicati
L€ I easily les

presenfolic
(d D None of thy
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2.3 -~ Marbet segmentation and 2.4 ~ The marketing mix

1. What does the process of market segmentation
involve?
L3 & Breoking down the market into gender
structure only
LI B Brecking down the market info gender ond
age structures only

L3 € Breoking down the market into gender, age

and income siructures only

[ D Breoking down the total market into specific

component areas such as age, gender,
incoma, location, aic,

2. Very high personal net worth would be aniex
market segment guide for targeti
market for the sale of whi
LI A Luxury supene
e
LD oTs

ge holidays
r children

3. Which of the following is one of the ‘four Ps’ of the

markeating mix?

L} A Procurement
LI B Policy

4 € Placement
4 B Price

4.  How might a business legally gain a competitive
selling advantage over its rivals?
L A Threot
L3 B Thoughtfully tweaking’ elements of its
rarketing mix
L3 € Casting doubt on their honesty
L B By none of these ways

5. ‘One implies u new product whereas the other
implies changes 1o an existing product.” To which
one of the following does this statement apply?
L3 A This is the perceived difference between

‘wroduct invention” and "product innovation’
LY B This is the perceived difference between

‘eroduct promotion’ and ‘product innovation’

Ld € This is the perceived difference between
‘product invention” and "product placemen

LY B This is the perceived difference be
‘produdt intervention’ and

6. Three elements of 1
life cys i
Which’
LI A P
LB Death
L € Generation
LB Growth

lidwing is the fourth?
ion

7.

Which of the folig
happen of the m¢
life cycle? ;
L3 A Soles begiy

decrecse -
LI B Sales begis

rate incre
L3 € Soles begi

rate declin
L3 D Sales begi
incregse

What does o bus
and applying o p;
L3 A Reduction
LB Moveitsp
L € Anincreas

the produc
4 B Tostop, or

product’s s

Why might o bus
easily backfire?
L3 A If competit
expected,
to custome
i B The initial
from buyi
Ld € Becouse it
LI D W conneve

At what state of
‘penetration pric
3 A Introductor
B Growthst

if o business state
£100 in order to
profit morkug, whi
L3 A Penetratio
LB Cost-plus
3 ¢ Competiio
2 D Promotion

How should o ‘ce
technique be da

LI D Free samp
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13, i o business uses o digitol-format promotional 16. An effective ma

advertising technique, such as o social media result of which o
platform, which one of the following would it most L3 A The total
heavily rely upon® LI B Minimum
L3 A The sale of smartphones machiner
4 B Anexpert in anclogue technology LI € The appli
L € Aninfluencer unknown to the target audience integrate
L3 D Aninfluencer who has genuine credibility L D Aninefficie
with the target audience process

14. Which one of the following products would not ke 17. Passible consagug
suitable for digital distribution? of changes in th
Ld A Music demand greaily
ld B Foodsiuffs what?
(3 € Films (3 A Hove an el

(3 B Efficientty
4 C Hoveas
Gsic marketing mix process ¢
D Accurately
rk together in order to create an pracise pm‘f
HH optimum morketing strategy
LI B So as to work together in order to create an
overall optimum production strategy

L3 € Tocreaie an optimum employment sirategy
4 D Becouse # is o legal requirement

L D None of the above

2
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3.1 = The role of human resources and 3.2 Organisational
ways of working

1. What department within o small fo medium-sized 6. In order 1o have
enterprise, or indead o large muliinotional business must ho
corparation, is primarily responsible for dealing L3 A Bothform
with employee-related matiers?
[ & Sales
3 B Human resources
L € Finonce
LI B Purchasing

LD Efficient |

7. Inalarge, tall-s
one of the follo
directors is frue
(4 A They hav

carry the

; Li B They hav

LI D Horizontal structure also carr

2. What is o tall business orga
krnown as?

3. In business crganisations the term ‘delegation’ is 4 D They are
often mentioned. What does this term meon?

L3 & The tronsfer of authority downwards from o 8. Which one of th

high moanagement layer 1o o lower one permanent cont

LI B The transfar of authority upwards from o L3 & It cononl
lowar management layer o o higher one employs

LI € The tronsfer of responsibility upwards from o L B it cononl
lower management layer to o higher one work few
Li D The transfer of responsibility downwards 4 € Anemplo
from a high management loyer to o potential
lower one LD Anemplo

4.  What is meont by the term ‘authority’ in a business

orgonisation? 9. A zero-hours co
L3 A The absolute and unrestricted right of o an employee to
manager fo do as they please L3 A Be happy i
Ll B The power an employse has to do whatever LI B Getindus
they wont without restrictions [ € Plon and
L4 € The right ond power to give orders and financial b
directives fo superiors LD Be efficien

LI D The right and power to give orders and
directives to subordinates

femporary leave COPYRIGHT
option? PROTECTED

5. Inorder to attempt to fully achieve its own u
and individual aims and objectives, wi

business have in terms of § L A Furlough
administration ‘blue LI B Furlong
L3 € Sick pay

L B Incentive
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3.3 = Communication in business

1. Which of the following is imperative to any
business because, among many other reasons, it
has all employees working towards the same
known oims and objectives?

Ll A Competitor analysis

LI B Efficiency pay

L3 € Effective communication

L} D Effective copital budgeting

2. The foact that o business’s employees are not
clearly aware of progression paths for future
promotion could be o negative consequcncc for
which of the following?

L A A poor recruitment cmd sel

L3 B Lack of an employ

W€ Acleart

Lp & communication systems

3. Which #8} the following statements about o
kusiness’s 'grapevine chit-chat’ is true?

L3 A ifis not regarded as o formal
‘management approved’ method of
communications within the business

LI B Itis regarded as o formal ‘manogement
approved’ method of communications within
the business

it is always true and accurate
It does not exist in well-structured
organisations

Lo
o0

Which of these §
business of not Iy
electronic netwe
LI A Fallin saly

45

B
4 € Low pro
W

digital
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3.4 - Recruitment and selection

1.

Ideally, o business should always fry to create o
positive image for itself. Howaver, what action
should it not toke to do so?

LI A Show itself as an innovative, modern and
forward-thinking enterprise

Emphasise its gresn credentials

Employ unsuitable people

Proctise waste reduction

LU
jv- e W+

Which one of the following should also be
regarded as a business’s ‘human asset’?
L3 A& Land and buildings

i B Al employees

4 € Senior management on
LI D Stokeholders

Whaot
recrul

LA

, ght persistent internal

ve'on o business?

ely narrow the ‘gene pool’ from
which the business can get new ideas

Ll B Reduce recruitmani, selection and retention
Costs

L3 € Shorten employment *bedding-in’ time to
job

LI D Breothe ‘new life’ into the business

Having access to o larger pool of potential job

applicants is one advantage 1o which of the

following?

LY A Promoting external training

I B Promoting in-house training

LI € A business using internal recruitment methods

LI B A business using external recruitment
methodds

What is the purpose of a ‘person specification’?

Ll A To see whether o potential employee will
“fit into’ the business quickly

To detail the 1asks of o specific job

To specifically highlight the ariributes of the
type of person the business wonts to employ
To specifically highlight the physicol
aitributes of o potential employee

0 od
O w

fe

Which one of the:
job description?
LI & Tasks inv
LI B Personal gqe
€ Areas of re
3 D Duties the

Who is uiﬁma’re!y%
application formé.
L A Job applicy
3 B The employ
4 € Job agen
i B The gove

‘A nervous cand
potential.” This i
following?

L A Induction

accompany o fa
compuier input
L A Compute
3B Compute
L3 € Personali

LI A Sale of Ga
LI B Employmen
3 C Weights ai
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3.5 - Motivation and retention

1. Heuaping praise on employses is regarded as which | 4. In the business e

of thase? *headhunting'?
L4 & Non-finoncial method of employes Ll A Businesse
motivation LI B Lockingt
I B Financial method of employee motivation L3 € One busin
Ll € Expected employee
L I Condescending work for i

L D Aggressiv
2.  Which one of these is o financiul method of
motivation? 5. How might o by

L3 A Proise costs invalved in
L3 B Award schame recruitment of st
L3 € Commission of the process?
L B Providing an appropriate L A Byusings
anvironment ‘ agencies

L B By skimpi

3. WHab L tivates its employees, L € By retain
which & liowing is likely to be the impact on possible

the bus 4 D Bynotrec

L A Improved employee productivity

Ll B Reduced levels of staff turnover

L3 € Continuous reduction of business waste
L3 B Al of the abova

COPYRIGHT
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3.6 -~ Training and development

1. How does training benefit employees? 4. To retain them, to
L} A By cousing them stress if they must their potentiol o
undertake it
L3 B By making them indispensoble to the business L A Offer only:
L4 € By improving their proctical skifls and their emple
academic knowledge needed to perform LI B Offer only.
tasks or carry out operations their empla
LB i doesnt ¢ Offerav
their emp
2. Which one of the following familiarises employees 3 B Neverre

with the business, iis ethos, working practices and induction
fellow warkers?
LA Aninterview

LI B Off-the-jols training

erniployee training is carried out of
©'s place of work?

L A Off-the-job training

LI B On-the-job training 8.
L3 € Acodemic troining
Ld D Practical training

4.  What is formal training also known as?
L} A On-the-job training
LI B Off-the-job training
Ld € Induction training
[ B None of the above

9.  Ina well-run bu

5.  Anemployee might feel pressured into taking up amployeeas will
the offer of an in-house troining programme. If this of these?
is the case, which one of the following statements

is frue?

LI A Approved in-house, work-time training
schemes are ineffective for employers

L B Approved in-house, work-time training
schemes are always effective for employers

L} € Approved in-house, work-time training
schemes are welcomed by all employees

L3 D Approved in-house, work-time training
schemes are o fotal waste of time for

ot involved
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3.7 —~ Employment low

1. Ensuring that they fully comply with all current UK 3. Whaot does the
tegisiation about recruitment and employment could actually specific
ke said to be which of these? L A The toial
LY A The reason why businesses import employe
LI B The reason why businesses export of time
L} € A reason for not buylng new plont and LI B The totdl

moachinery employe

L} D One of the biggest obstacles to employing of time
pecple L3 € The aver
most emp

2. What is the purpose of the UK's Equality Act 20102 period of

L D The aver

L3 A To ensure that the same number of males
and females are employed in o :

LI B To protect employees fr

L € Toprotect all emp '

aemployees
of fime &

all forms of

Hlace
: TG+ employees against
Tion in the workploce
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4.1 ~ Production processes

1.

The logical sequencing for the physical production
process is raw material input, transformation
processes, quality checking and which one of these?
L} A Finished goods cutput

Ld B Surplus row materials output

L3 € Finished goods input

L3 D Quantity checking

What does job production involve?

L3 A The manufacture of o lorge baich
identical products to the ex
of the producer ;

3 B The monufac ntical products
rients of the customer
L c re of u specific individuot and

ne-off product o the exact

reguirements of the customer

LI D The monufacture of many identical
small products

What type of production system involves relatively
smatf unit groups of similar ftems produced ot the
same time?

Ll A lob production

L3 B Baoich production

L3 € Mass production

L3 D Flow production

What type of production system involves the mass,
or assembly line, production of identical
standardised ifems?

L} A Spedolised produciion

LI B Job production

L3 € Flow production

(3 B None of the ubove

What is the most likely reason for o monufacturer

to use a combination of job, batch and flow

production techniques, rather than just one of them?

L3 A Becouse of trade union prassures

LI B Because it will automatically require the use
of less unskilled lobour

L3 € Inorder fo increase customer demand
maximum

LI D inorder to increcse pro
the maximum

Why 558 o particular unique
singuley chidn technique, or a combination of
differer uction techniques?

L} A In an ottempt to improve its productivity

LI B inorder to demonstrate and proctise
different management ond leadership
techniques

LI € Soit can initiote various staff iraining
schemes

3 D Toprovide employee incentives

Which productior;
the manufacture

flow production
3 A Sourcing
LI B Getting t

L3 € Meeting

LD The fear
possible |

Which one of i‘heé

LI A It never bré
LB Iis suitabls
one-off uniy
C It requires &
B It requires;
investment ;
robotics

Why might a b
balance batwee

Labour-intg
plagued b}
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4.2 -~ Qudlity of goods and services

1. The ‘extent to which it meels customer expeciations’ 4.  Which one of the
is o practical way of judging which of the following? 3 A No defecti
L3 A The guantity of a product or service quality cor
L3 B The quallty of o product or service LI B Quality co
[d € The productive efficiency of o business finding an

[d D The capital-to-labour ratio in o busingss process
L € Quality as
2. Whaot activity is baing carried out when, at the end fact-findin
of a production-run baich, there is an inspection 1o production
ensure that o high standard of quality has LD Quality co

keen achieved?

L & CGuality control
4 B Quantity control
L4 € Continuous quality checki
LI D Productive effic

g specifically involves A Anall-roy
uous quality checks of LI B Assured so
SeitSd stages of the production process? LI € Assured p
L A Quantity ossurance process W D Guarantes:
L B Guality standordisation process :
L3 € Guality control process

L D Guality assurance process
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4.3 - The sales process and customer service and 4.4 - Con,

1. What is the process of ‘selling goods or services 5. How might o busiy
over the telephone’ beiter known 0s? active customer |
L4 & Inexact selling customers for re
LI B Chugging new ones?
[ € Telesales L3 A By maokin
[ B Digital seiling LI B By ensuris

engaged

2. Which one of the following has been o very L3 € By ensuri

influential factor for the growth in the number of engaged

out-of-town e-tailing establishments? 3 D I doesno

L4 A The growth in the use of g-commerce

LI B Developments in onalogue communication
systems :

L € Government tax laws

LI B The growth in tow :

facilities

What is the ulti
they buy goods o
L3 A The varicus
LB The various
3 € EU consume

3. airt existing customers, attract new Ld D Common sg
ST goin o competitive edge over rivals,

which one of the following activities is it essenial 7.  How might UK cof

for « business to undertaks? a businass?

LI A Provide customers with low-cost in-store (3 A By costing 3
entertainment with cus\‘on‘%ifi

L B Provide customers with o cheap but LI B By costing?
unreliable product or service legal fees

LI € Provide excellent customer care services, to pay out:

including o customer care aftersales service 4 € By having
L3 D Provide custorners with an in-store café team in ¢
or restaurant D inall of the

4. Which of the foliowing is net essential to the
provision of good customer services?
L3 A Product knowledge

L B Customer engagement

Ll € Aftersoles service

L D In-depth knowledge of competitors’ sales

Processes
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4.5 — Business location and 4.6 Weorking with suppliers

1. What does the actual type of business operation 6. Which one of the:
mast influence when a business is considering where the term ‘procur
to set up its operation? services?
Ld A s organisational chart design
L B Geographical location
Ll € The monagement style it operates
L3 D The education level of its employeses

dalivery
2. Proximity to its market would be the most important LicC ldemifyi’ngzgg
factor for o business deciding the location for which sell goads |

Quality ch&
services prg

one of the following?

3 A Acoll centre

(4 B The production of tinned foo

L4 € Anorganic farm shop spect
fresh’ produce

L B Long-life mills

7. What is the sauanf§
its entirety — frang
and finally distrity
L A Logisties ¢

the Tollowing UK business set-up L B Manufactus

2

3. Which

focatio d be largely dependent on the LI € Retailing
efficiency of the local electricity supply ond LD Servicing
telecommunications networks?
LA Call centre 8. What is the name
LI B Wind farm that focilitates o ©
L € Flower-growing farm raw materials for,

(4 B MHone of the above consumer with an;
4. A city cenire high street would be the most suitable

location for which one of the following?

L} A Computer Internet repair call cantre

LI B Supermarket disiribution worehouse

[ € internet café 9. Which one of th
very serious fon

3 D Karting track entertainment

5. A geographical area with lots of economics and
fonguages groduatas would most likely be o
magnet for which one of these businesses?

L A Dairy form

LI B Farm shop

L € Correpoir gorage

LI D International financial Internet call cantre
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5.1 — The role of the finance function and 5.2 Sources of ﬁné"

1. Whaot business ‘functional area’ is primarily
responsible for producing monetary accounting
dota?

Ll A Maorketing and sales department
L B Accounting and finance depariment
LI € Aftersales services deportment

L} D Human resources department

2. Which one of these departments is specn‘amii
rasponsible for providing o business
statistically supported adwce £
decision-making?
A A ting:
LB department
O ¢ control department
3 B MErketing department

3. Business gctivities such as fo start up or expand, 1o
cover day-to-doy running costs and substantial
capital expenditure, to recruit personnel and to
market their product or service, are all basically
refiont on which of these?

3 A Level of staff turnover

[ B Organisational chart design

[ € Finance available to undertake them
Ll B Monagement style

4. Which one of the following is true about the

practice of ‘crowdfunding'?

LI A iris llegal in the UK

L3 B it connot be achieved by the application of
internet communications

L4 € irinvolves only a very small number
of contributors

LI D iris enobled by a very large number
of contributors

5. Which one of the following is not o long-term
business loun?
L3 A Mortgoge
(4 B Bonk overdraft
4 € Share capital issue
3 D Ten-year bank loan

é.

Which one of the
OWNEr's own cup
expansion?

3 A It is Himited
businesses
it is llegol
ftis by for
ftis by for

(R W
SO w

Public share issus
option for which
L A Successful
sized priv
Successtul
Well-asta
New and
start-up

Lo
(v e -]

Which of these s
o o long-esiabli
company that wog
A Llong-term |

Which one of the
cause o business
L A Bringing o

Rise in infl
Increase in

I
TOow
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5.3 -~ Revenue, costs, profit and loss

1. Income from trading soles is regarded as which one

of the following?

L3 A Source of business expenditure

LI B Source of business revenue

L3 € Unnecessary for a business

[ B Connever be quantified by o business

ess costs couse which of these?
Business opfimism among owners and
managers
Business profit to increase
Cash inflows to o business
Finoncial outflows from the business

i

3

fw e W

Bu
o
.
-
3
A

business’s fixed costs
the following?

oA

Qs costs
LcC Woable costs
L B lrrelevant costs

4.  Which one of these options best describes the term

‘unit variable cost'?

[ & Normally constant cost directly attributable
o the production process

LI B Total cost of the production process

L3 € Cost that never changes in unit value

LI D Cost that never changes in fotal value

Consider Table 1, overleaf, and then answer guestions
510 8.

5. What is the business’s unii variable cosi?
LA £
LB £20,000
€ £30
LB £30,000

6. What is the business’s total variable cost?
LA £6,000,000
LB £200,000
L€ £100,000
LI B £60,000

7.  What is the business’s total fixed cosi?
LA £100,000
LB £200,000
LI € £300.000:
LD

8. What is"H0 business’s total cost?
LA £200,000
LI B £400,000
LI € £6,200,000
LD £6,000000

Consider Table 2, oveé
@ and 10, f

@.  What is the net p
0 A £100,000
LB £200,000
3 € £800,000
0D £500,000

10. What is the gross§
. year 12

LA 0.25% A

"B 0.0002%
Q¢ 005%
LI D 25%

i1. i o business mad
a year's troding,
said, with certain
LA It made o

LI B Forevery

cast is incu

L3 € For every
gross prof

LI D Forevery

net profit

12. Which one of the

LB Averager
L € Met profit
W B Average re

Consider Table 3, oveé
13 and 14. :

13. Whaot is the ave:’é§§
choice A% :
4 A 50%
LB 12.5%
e 10%
LD 5%

What is the most
the ARR apprais
L A Choice A
LB ChoiceB
L€ Choice C
LI D Choice D

15. Which one of the:
appraising an in

L3 A Percentag

an investm

LB Atime per
investment

L3 € Total mone

i B Moneyist
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Table 1

Business rent £30,000
Business rales £70,000
Business insurgnce £100,000
Direct woages per unif £12
Direct moterials per unit £10
Direct expenses per unit £8

Units produced und sold 200,000

Table 2
End of year 1

Sales
Cost of sale.
Expe

Table 3 :
Possible investmen)

Choice A Choice B Chy
initial cost outiay £500,000
rs O to 4 (5 vears) total profits § £250,000
Averoge rate of refurn 0§ el 10%
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5.4 -~ Breabk-even

1. In o breack-even chari, where exactly does the
break-even point occur?
L3 & Atthe point where the total cost line
crosses the total revenue line
At the chart’s point of origin
When the total cost line is above the total
revenue line
When the total cost line is below the total
revenue line

£ oo
©y W

&

2. ‘The business can clearly see how many units it
naeds to produce in order to breok even. Wi
reference to this statement, which one of ths
following is rue?

L3 A A breck-even calculy
when o loss b

LB 4 culation connot show the

evel needed to make o profit

e & wess mostly benefits from carrying

out break-even caleulation and analysis

LI B A business's breck-even calculation ond

analysis is always totally meaningless

3.  The foct that break-even analysis reflects only
the short-time life of only one specific product of
a business justifies which one of these statements?
4 A Breck-even calculation and analysis should
never be undertaken by o business

Ll B Breck-even calculotion and analysis will
universally predict the future profits of
any businass

LI € This is a real positive of brealk-even
calculation and analysis

LY D This is o real drawback of break-even
analysis

4.  When “total contribution’ exceeds ‘fixed costs’
what has the business made/done?
LI A Profi
LIB Loss
L € Broken even
L B None of the above

Study Figure 1, belg
7 10 10. :

7.

10.

Figure 1: Breck-even chort

A business has
contribution pe;

io break even
A £10,00
LB 10,000
< 40000
LD £4,000

In breaok-even
following best
4 A The pro

id B The unit

1 € The num
notto p
W B The tota)
before i

Which of these:
4 A Profis @
4 B Margin

L € Units of
W D Costang

Which of these
“JdAOC A
B 10
WC 20
WD 30

Which of these:
4 & Margin
4 B Fixede
L € Qutput
I D Output

Which of these

Line B

Point X

F--Y

Line B

¥

Line F
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5.5 - Cesh and cash flow

1.

Why is cash one of the most important current

assets of a business?

L3 A Because it is the most liquid asset used for
the day-io-day running of o business

(3 B Becauss it is the only avenue o business has
for growth

L3 € Becouse its nominal value never changes

LI B Becouse there ore no other current assets in
a business

Which one of the following is the actual movement
of cash monay into and out from a business and s
bsank account?
L3 A Cash flow
LI B Profit

4 € Credit
LD De

When as more cash coming in than it

has goi . which of the following is most true?
L3 A The business has cash flow

LI B The business has a positive cash flow

L3 € The business has a negative cash flow

LI D The business hos made o substantial profit

Which one of the following would cause o business

to have a period of negative cash flow and maybe

kecome insolvent?

Ll A When creditors fail to pay their bills

LI B increase in cosh sules

LI € When numerous large debtors regularly foil
to pay their bills ar all

Ll B When no debtors fail to pay their bills

For which purpose can actual physicol cash not
be used?

L} A Online payment

LI B Prepay for o purchose

L € Poyodebt

3 D Poyout as o Christmas bonus

Table 1: Cash flow forecast

Consider Table 1, beh\
and 10, :

9.

_ business?
L3 A In the very

Which one of the
business earns o
specific period of;
3 A Negative op
LI B Positive ca

LI D Profit

During what specé
positive cash flow

L2 B Inthe med
L2 C inthe ver
L B At notime

Which one of thel
flow’ is correci® #
LI A It is the sang
LI B it cannot b
3 C It doesno

o businass
LI D It determing

o business &

R

What is the net ¢
A £0

LB £1,000 ;
L {£13,0000
LD £13000 &

What is the closing
LA £3,000

4 B (£3,000)
L€ £4,000
D (£4,000)

Cash flow forecust for two months ending 30" Apr

April (£)

Mo
Cash inflows
Sales reve 4,000 &
1,000

5,000

Cash ocuiflows

Purchases

6000

Overheads

Total outtlows

3,000

QOpening balance

Net cash flow

Closing balonce
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6.1 ~ Ethical and envirenmental considerations

1. A business should trade in o right and proper way 4. Action by environ
and not in the wrong way. Of what is this the token against why
basic principle? L A A business;
L3 A Foirrade natural gos
L B Environmental trading [d B A busines

L3 € Business ethics considers
L3 B rone of the above manner’

2. By not coring how, or from where, a business

sourcas its supplies is one sure sign mindset
L3 A i is on environmentaily §5 b B A business 3
' TESOUTCes

5. What does the Fg¢
indicate?
4 A The produg
3. Which of the following is o genvine environmental developing
consideration for the modern business environment? economy |

LI A Disposal of all sorts of waste materials LB
L} B Sustainohility of naotural resources Lc
L € Global ciimate chenge LD

L4 D All of the obove developed.

6.2 ~ The economic climate

1. What world economy is usually placed between 4% | 4. In what positive w
and &% in world rankings by way of gross domestic )
product {GDP)2
Ld A UsA
LI B Ching
L € Soudi Archio
LD UK

2. What impact will the reduced disposable income
of UK consumers normally have on local and
national businesses as well as on the general
of the UK asconomy? :
LI A None
LI B Positive
L C ive
Lo

COPYRIGHT
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not be caleulated of time &
: LI D The cost of

3. ‘Brexit’ réters to the UK’s exit from the European

Union. This happened on 319 lanuary 2020, Which

one of the following can be said, with certainty,

about its impact on the UK economy?

Ll A As yet unforeseen

LI B Negative

L € Positive

B rone
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6.3 ~ Globalisation

1. What does the word ‘globalisation” mean?

L3 A That our world is becoming more and more
interconnacted ond integrated both
commercially and colturally

LI B That our world is becoming less and less
interconnected and integrated both
commercially and culturally

4 € The world hus become less safe

4 D The world is round

2. ‘Which one of the following have developments in
Internet technology been most zespans:bie forg
LI A Growth of high-sireet storas
LI B A foll in computer sacum
L} € Facilitation of the

giobalisation

Lp B nting fraud

3. Which 88} the following has the growth in
muliinational companies dosely mirrored?
[d A Shrinking of the integroted business waorld
[ B Substantial fall in world trade
L3 € Growth in giobalisation
LI B None of the ahove

By developing
advaniage ove
business be bett
LA Incrense i
LI B Compete
L3 € Motivate
3 D improve i

.hroughoui‘ the we
L3 A Exporting
L B Importing

3 € Motional fry
L3 D internation
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1. 'They rely on themselves, as well as on each other,
ro successfully work together in order 1o achieve
total business success.” To which one of the following
does this stotement refer?

LI A Business debtors

LI B Interdependent functional arsas of business
operations

L} € Business creditors

L3 D Banks and other financial Instituiions

2. Of which one of the following might the ‘rate

LI D The degree of success o sales
department has

3.  The interpretation and stetistical analysis of
financial data and information is one way of
guantificbly measuring the success of which of
the following?

Ll A Only the soles department

L B Only the finonce department

Ld € The collective success of all the functional
areas of o business

[d D None of the above

Which one of ‘rhe%
the term ‘profit’?
2 A A busines

that over

Which one of th
responsible for
L2 A Senior de
combine
areas of
L4 B Very juni
caombine
areas of

in its decision-m
3 A Gross pr
(3B Average
L € Net profit &
U D Allofthe g

Multiple-Choice Question Bank for GCSE {3-1) OCR Business

Page 55 of 59

COPYRIGHT
PROTECTED




Preview of Answers Ends Here

This is a imited inspection copy. Sample of answers ends here to stop students looking up answers to
their assessments. See contents page for details of the rest of the resource.



